Bellwork  Alg 2 Friday, December 6, 2019

Find all EXACT complex zeros, real and non-real, by factoring.
1. y = 12x° + 51x% - 126x 2. flx) = 36x> — 8x* + 180x3 — 40x2

3. Find all EXACT complex zeros, real and non-real. y = 16x* + 56x> — 194x2 + 243x — 198

4. Simplify.  (5-y=36) — (2 + 74)(4 — 3i)

5. Is x + 3 a factor of x> + 4x2 — 27x — 93
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3. Find all EXACT complex zeros, real and non-real. y = 16x* + 56x3 — 194x2 + 243x — 198
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4. Simplify.  (5—J=36) - (2 + 7i)(4 - 31)
L T AN—

(o i)

g+ 2Lz
/o

5. Is x + 3 a factor of x3 + 4x2 — 27x - 93
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